
མགྱོགས་རྩིས་རྒྱག་སྟངས་ 

དཔེ་  ༡) ༣༤༥༦ x ༤ = (༣༠༠༠ +༤༠༠ +༥༠ +༦) x ༤ 

                          (༣༠༠༠x༤)+(༤༠༠x༤)+(༥༠x༤)+(༦x༤)                  

                          ༡༢༠༠༠+༡༦༠༠+༢༠༠+༢༤ 

ནང་ལས་ 

༢) ༢༣༦༤x༥ 

༣)༩༨༥༦༠x༣ 

༤)༨༤༣༦x༢ 

༥)༢༡༥༣x༦ 

༦)༣༨༩x༤ 

༧)༤༤༦༣x༨ 

༨)༩༨༤x༤ 

 

 

 

  ༡༢༠༠༠ 

   ༡༦༠༠ 

     ༢༠༠ 

      ༢༤ 

  ༡༣༨༢༤ 



གྲངས་མཐའྩི་ཀླད་ཀྱོར་བསྐྱུར་ནས་མགྱོགས་རྩིས་རྒྱག་སྡངས་ 

དཔེ་ ༡)  ༧༠༠༠ x ༢༠ = ༧ x ༢                 ༢)     ༩༠༠༠༠ x ༥༠=༩x༥ 

                        =༡༤                                             =༤༥ 

                      =༡༤༠༠༠༠                                         =༤༥༠༠༠༠༠ 

 

༣) ༦༠༠༠༠ x ༦༠ 

༤)༡༠༠༠༠༠x༩༠ 

༥)༥༠༠༠x༡༠༠༠ 

༦)༧༠༠༠x༤༠ 

༧)༤༠༠༠༠x༡ 

༨)༣༠༠༠༠x༣༠ 

༩)༨༠༠༠༠༠x༨༠ 

༡༠)༥༠༠༠༠x༥༠ 

                          


